Multi-digit: S1

Subtraction Word Problems

1)

Felicia scored 723,945 points in the advanced level of an online game. Stuart’s score
for the same level was 51,069. By how many points is Felicia ahead of Stuart?

A clothing store made $94,614 in November. The sales rose dramatically to $132,582
in December. By what amount did the sales increase?

A local charity raises $235,667 through fundraising dinners and raffle tickets. If $38,518
is generated through raffle tickets, how much money is made from the fundraising
dinners?

An official report stated that the number of fir trees in a region had, over a period,
increased from 182,197 to 235,143. How many more fir trees are now there than
there were before?

A chocolate factory makes 650,451 chocolate bars. They make 100,000 bars of white
chocolate and the rest of dark chocolate. How many dark chocolate bars do they
produce?

Dan bought a house for $344,373 and sold it for $482,236. How much money did he
make from this sale?
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